A & 0ol & AF S H Al A

20243 =0let SFXNE NS THHAELAM SE2/AH

& 200 M2l
2 220 LAIZAM 2=
gt 222 NXIEHRES (EH9: &)
g-2-8.5 Ol & o HE 0l At Hlw=2
=S Al 24,513,000 15,163,066 9,349,934
200 M2l 170,000 70,000 100,000
220 SAIEANR == 170,000 70,000 100,000
222 NXISHHIRE =S 70,000 70,000 0
222-01 AXIHH 2R E=2 70,000 70,000 0
< BASEIH > 70,000 70,000 0
OJI=20| etalits Z2L(AZ 2E3) 70,000
224 J|Et==¢ 100,000 0 100,000
22403 J 1R+ 100,000 0 100,000
< BASEHEM > 100,000 0 100,000
OJI1Z<D| etalolg =4 (00183) 100,000
500 Ex= 3,733,803 3,758,066 N24,263
510 21EX=S 3,733,803 3,758,066 N24,263
511 FNEX=S 3,733,803 3,758,066 N24,263
511-01 =1E2x3 3,297,563 3,258,066 39,497
< BASEHI M > 1,407,563 2,058,066 A650,503
OtE SR 1,407,563
“FAAS X=X 438,563
-s0E Otsge N3(%) 600,000
-LPGEI| AFEJt AIZIHEXIE At 369,000
< SHHorMze| it > 1,890,000 1,200,000 690,000
O3 =7 1,890,000
-HEFUUXE2 =4 1,890,000
511-02 NS o2 MEEHELS 436,240 0 436,240
< BASEHI M > 436,240 0 436,240
OLE SRR 436,240
ONEUIE DNES IS YN goe 436,240
700 2 +USHHEHH 20,609, 197 11,335,000 9,274,197
710 2E8=S 249,787 0 249,787
11 A0z 249,787 0 249,787
71101 =AIAHL = 249,787 0 249,787
< BASEI M > 249,787 0 249,787
020238 =AMHL0I= 249,787
720 LHEO1eH 20,359,410 11,335,000 9,024,410
721 Y= 20,310,000 11,335,000 8,975,000
721-03 JIEIRI AN Y = 20,310,000 11,335,000 8,975,000
< BASEI M > 20,310,000 11,335,000 8,975,000
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